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QUESTION 1

You are zoning a fabric for a clustered Data ONTAP storage system. After cabling, you see the following addresses
logged into the fabric: 20:04:00:a0:98:16:db:9c 50:0a:09:83:8d:b1:ce:c3 What should be included in the zone
configuration?

A. 50:0a:09:83:8d:b1:ce:c3 and the initiator WWNN

B. 50:0a:09:83:8d:b1:ce:c3 and the initiator WWPN

C. 20:04:00:a0:98:16:db:9c and the initiator WWPN

D. 20:04:00:a0:98:16:db:9c and the initiator WWNN

Correct Answer: B

QUESTION 2

A customer has recently deployed a clustered Data ONTAP 8.3 system and is trying to mount LUNs to a Windows 2012
Server using the iISCSI protocol. They are using Cisco Nexus 5548 network switches and the network administrator has
informed the storage administrator that the ports are set to switchport mode trunk. The storage administrator has also
been informed that the host and storage should be using VLAN 400 for iSCSI traffic. When the storage administrator
attempts to add the SVM as an iSCSI target, it fails to connect.

What is causing the problem?

A. The storage administrator has not enabled VLAN tagging on the storage ports.

B. Clustered Data ONTAP 8.3 does not support the iISCSI protocol on a VLAN tagged interface.

C. Windows 2012 Server does not support the iISCSI protocol on a VLAN tagged interface.

D. Clustered Data ONTAP 8.3 does not support running iSCSI on a VLAN ID below 1024.

Correct Answer: A

QUESTION 3
Click the Exhibit button.
Referring to the diagram shown in the exhibit, what will happen if PDU-B fails?

Exhibit:
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A. Both Node A and Node B will remain online and all disk shelves will remain online.

B. Both Node A and Node B will remain online, but all disk shelves will immediately lose power and become
inaccessible.

C. Both Node A and Node B will immediately lose power and become inaccessible.
D. Node A will immediately lose power and become inaccessible. Node B will remain online.

Correct Answer: A

QUESTION 4
You are asked to configure the Service Processor on a newly installed node, and must verify the following command:

system-service processor network modify -node local -address-family IPv4 -enable true -ip-address 192.168.123.98
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-netmask 255.255.255.0

Which statement about this command is true?
A. -nodeshould reference the actual node name.
B. The gateway IP address is missing.

C. The Link Local IP Address is missing.

D. IPv6 is required for the SP.

Correct Answer: A

QUESTION 5

A customer has a 4-node cluster and wants to use iSCSI for LUN traffic. Which license needs to be installed on the
nodes?

A.iSCSI

B. SnapRestore
C.CIFS

D.FC

Correct Answer: A
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